Electronic Journal of Differential Equations, Vol. 2008(2008), No. 97, pp. 1–7. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu ftp ejde.math.txstate.edu (login: ftp)

POSITIVITY OF THE GREEN FUNCTIONS FOR HIGHER ORDER ORDINARY DIFFERENTIAL EQUATIONS

MICHAEL I. GIL'

ABSTRACT. We consider the equation

$$\sum_{k=0}^{n} a_k(t) x^{(n-k)}(t) = 0, \quad t \ge 0,$$

where $a_0(t) \equiv 1$, $a_k(t)$ (k = 1, ..., n) are real bounded functions. Assuming that all the roots of the polynomial $z^n + a_1(t)z^{n-1} + \cdots + a_n(t)$ $(t \ge 0)$ are real, we derive positivity conditions for the Green function for the Cauchy problem. We also establish a lower estimate for the Green function and a comparison theorem for solutions.

1. INTRODUCTION AND STATEMENT OF THE MAIN RESULT

In this paper we establish positivity conditions of the Green function for the Cauchy problem (the fundamental solution) for the scalar equation

$$\sum_{k=0}^{n} a_k(t) x^{(n-k)}(t) = 0, \quad t > 0,$$
(1.1)

where $a_0(t) \equiv 1$; $a_k(t)$ (k = 1, ..., n) are real continuous functions bounded on $[0, \infty)$.

The literature on the positive and nonoscillating solutions of ordinary differential equations is very rich, cf. [1, 6, 13, 14, 15] and references therein. In particular, Yu and Levin [11, Section 5] among other remarkable results, proved the following result: Suppose that, the roots $r_1(t), \ldots, r_n(t)$ of the polynomial

$$P(z,t) := \sum_{k=0}^{n} a_k(t) z^{n-k}, \quad z \in \mathbb{C}.$$

for each $t \ge 0$ are real and satisfy the inequalities

$$\nu_0 \le r_1(t) < \nu_1 \le r_2(t) < \nu_2 \le \dots < \nu_{n-1} \le r_n(t) \le \nu_n, \quad t \ge 0,$$

where ν_j are constants. Then equation (1.1) has non-oscillating solutions. That result is very useful, see for instance [7, 8] and references therein. It should be

²⁰⁰⁰ Mathematics Subject Classification. 34C10, 34A40.

Key words and phrases. Linear ODE; Green function; fundamental solution; positivity;

comparison of solutions.

^{©2008} Texas State University - San Marcos.

Submitted May 8, 2008. Published July 25, 2008.

Supported by the Kamea Fund of Israel.

noted that the existence of non-oscillating solutions does not guarantee the positivity of the Green function. Obtaining the positivity conditions for the Green function requires additional restrictions. On the other hand such conditions are very important for various applications, cf. [9, 10]. To the best of our knowledge, the positivity conditions for the Green function were established only in the cases of the second order equations, cf. [10], and equations with constant coefficients [8]; the nonautonomous higher order differential equations were not found in the available literature.

A solution of (1.1) is a function x(t) having continuous derivatives up to *n*-order satisfying (1.1) for all t > 0 and given initial conditions. Recall that the Green function $G(t,\tau)$ for (1.1) is a function defined for $t \ge \tau \ge 0$, satisfying (1.1) for $t > \tau \ge 0$, and the initial conditions

$$\lim_{t\downarrow\tau} \frac{\partial^k G(t,\tau)}{\partial t^k} = 0 \quad (k = 0, \dots, n-2); \quad \lim_{t\downarrow\tau} \frac{\partial^{n-1} G(t,\tau)}{\partial t^{n-1}} = 1.$$
(1.2)

Assume that

$$u_k(t) \le b_k, \quad t \ge 0; \ k = 1, \dots, n,$$
 (1.3)

where b_k are constant, and introduce the polynomial

$$Q(\lambda) = \lambda^n + b_1 \lambda^{n-1} + b_2 \lambda^{n-2} + \dots + b_n.$$

The aim of this paper is to prove the following theorem.

Theorem 1.1. Assume (1.3), and let all the roots of polynomial Q(z) be real and non-negative. Then the Green function for (1.1) is positive. Moreover,

$$\frac{\partial^k G(t,s)}{\partial t^k} \ge 0, \quad t > s \ge 0, \ k = 1, \dots, n-1$$
(1.4)

This theorem is proved in the next section. Below we also consider the case when Q has negative roots. Theorem 1.1 supplements the very interesting recent investigations of higher order differential equations, cf. [2, 4, 16].

2. Proof of Theorem 1.1

Denote by $C(\mathbb{R}_+)$ the Banach space of functions continuous and bounded on $\mathbb{R}_+ := [0, \infty)$ and consider the nonhomogeneous equation

$$\sum_{k=0}^{n} a_k(t) D^{n-k} v(t) = f(t)$$
(2.1)

with a positive $f \in C(\mathbb{R}_+)$, $D^k x(t) := \frac{d^k v}{dt^k}$, t > 0, and the zero initial conditions

$$v^{(k)}(0) = 0, \quad k = 0, 1, \dots, n-1.$$
 (2.2)

Since the coefficients of (2.1) are bounded on \mathbb{R}_+ , a solution v(t) of problem (2.1)–(2.2) satisfies the conditions

$$|v^{(k)}(t)| \le M e^{\nu t}, \quad t \ge 0, \ k = 0, 1, \dots, n$$

with constants $M \ge 1$ and ν . So v(t) admits the Laplace transform. Let $\tilde{v}(\lambda)$ be the Laplace transform to v(t), λ the dual variable. Put $\tilde{y}(\lambda) = Q(\lambda)\tilde{v}(\lambda)$. Then

$$v(t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} \frac{e^{\lambda t} \tilde{y}(\lambda)}{Q(\lambda)} d\lambda \quad (c_0 = \text{const}).$$
(2.3)

EJDE-2008/97

3

We can write as

$$f(t) = P(D,t)v(t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} \frac{e^{\lambda t} P(\lambda,t)\tilde{y}(\lambda)d\lambda}{Q(\lambda)}.$$
 (2.4)

Hence,

$$f(t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} e^{\lambda t} \left[1 - \frac{Q(\lambda) - P(\lambda, t)}{Q(\lambda)}\right] \tilde{y}(\lambda) d\lambda = y(t) - Z(t)$$
(2.5)

where y(t) is the Laplace original to $\tilde{y}(\lambda)$ and

$$Z(t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} e^{\lambda t} \frac{Q(\lambda) - P(\lambda, t)}{Q(\lambda)} \tilde{y}(\lambda) d\lambda.$$

By the convolution property,

$$Z(t) = \int_0^t K(t, t-s)y(s)ds,$$

where

$$K(\nu,t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} e^{\lambda t} \frac{Q(\lambda) - P(\lambda,\nu)}{Q(\lambda)} d\lambda, \quad \nu \ge 0$$

So

$$y(t) - \int_0^t K(t, t-s)y(s)ds = f(t).$$

Take into account that

$$K(\nu, t) = \sum_{k=1}^{n} (b_k - a_k(\nu))\mu_k(t),$$

where

$$\mu_k(t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} e^{\lambda t} \frac{\lambda^{n-k}}{Q(\lambda)} d\lambda, \quad k = 1, \dots, n.$$
(2.6)

By [8, Lemma 1.11.2, p. 23]

$$\mu_k(t) = \frac{1}{(n-1)!} \frac{d^{n-1} e^{st} s^{n-k}}{ds^{n-1}} \Big|_{s \in [z_1, z_n]} \ge 0$$
(2.7)

where z_1 is the smallest (nonnegative) root of Q and z_n is the largest root of Q.

Since $b_k - a_k(t) \ge 0, t \ge 0$, we can assert the $K(\nu, t) \ge 0$ for all $\nu, t \ge 0$.

Furthermore, denote by C_{τ} the Banach space of functions continuous on $[0, \tau]$ with a positive $\tau < \infty$. In addition C_{τ}^+ denotes the cone of positive functions from C_{τ} . Introduce on C_{τ} the Volterra operator V by

$$(Vw)(t) = \int_0^t K(t, t - s)w(s)ds.$$

Then y - Vy = f. By the Neumann series,

$$(I - V)^{-1}f = \sum_{k=0}^{\infty} V^k f \ge f \ge 0.$$

Here I is the unit operator. Note that the Neumann series of any Volterra operator with a continuous kernel converges in the sup-norm on each finite segment, since the spectral radius of that operator in a space of continuous functions defined on a finite segment is equal to zero, cf. [3]. So $y(t) \ge f(t), t \in [0, \tau]$. But τ is an arbitrary positive number. So we obtain $y(t) \ge f(t), t \in \mathbb{R}_+$. Recall that y(t) is the M. I. GIL'

Laplace original to $\tilde{y}(\lambda)$; so according to (2.3) and the convolution property, we get

$$v(t) = \int_0^t \mu_n(t-s)y(s)ds$$
 (2.8)

where μ_n is defined by (2.6). According to (2.7),

$$\mu_n(t) = \frac{1}{(n-1)!} \frac{d^{n-1}e^{st}}{ds^{n-1}} \Big|_{s \in [z_1, z_n]} \ge e^{z_1 t} \frac{t^{n-1}}{(n-1)!}.$$
(2.9)

Now the inequality $y(t) \ge f(t), t \ge 0$, yields

$$v(t) \ge \int_0^t \mu_n(t-s)f(s)ds \ge 0, \quad t \ge 0.$$

Thus the solution of problem (2.1)–(2.2) is positive, provided f is positive. But

$$v(t) = \int_0^t G(t,s)f(s)ds.$$
 (2.10)

Hence it follows that $G(t,s) \ge 0$. Furthermore, by (1.2), (2.3) and the convolution property

$$v^{(k)}(t) = \frac{1}{2\pi i} \int_{c_0 - i\infty}^{c_0 + i\infty} \frac{e^{\lambda t} \lambda^k \tilde{y}(\lambda)}{Q(\lambda)} d\lambda = \int_0^t \mu_{n-k}(t-s) y(s) ds.$$

But as it was above shown, $\mu_k(t) \ge 0$, $k = 1, \ldots, n$. Thus $v^{(k)}(t) \ge 0$. So by (2.10),

$$v^{(k)}(t) = \int_0^t \frac{\partial^k G(t,s)}{\partial t^k} f(s) ds \ge 0, \quad k = 1, \dots, n-1.$$

Hence (1.4) follows. As claimed.

3. Lower solution estimates and comparison of Green's functions

Lemma 3.1. Under the hypothesis of Theorem 1.1, for any nonnegative f a solution of problem (2.1)-(2.2) satisfies the inequality

$$v(t) \ge \frac{1}{(n-1)!} \int_0^t e^{z_1(t-s)} (t-s)^{n-1} f(s) ds$$

where $z_1 \geq 0$ is the smallest root of $Q(\lambda)$.

Indeed, this result immediately follows from (2.8) and (2.9). Recall also that $G(t, \tau)$ is a solution of the equation

$$P(D,t)y = \delta(t-\tau), \quad t > 0$$

where $\delta(t)$ is the Dirac Delta function. Hence thanks to the previous lemma we easily get the inequality

$$G(t,\tau) \ge \frac{1}{(n-1)!} (t-\tau)^{n-1} e^{z_1(t-\tau)}, \quad t > \tau.$$

Furthermore, together with (1.1), let us consider the equation

$$\sum_{k=0}^{n-1} c_k(t) x^{(n-k)}(t) = 0, \quad t > 0,$$
(3.1)

where $c_k(t)$ are bounded real functions satisfying the conditions

$$c_k(t) \le a_k(t), \quad t \ge 0; \ k = 1, \dots, n.$$
 (3.2)

EJDE-2008/97

 $\mathbf{5}$

Lemma 3.2. Let the Green function G(t, s) for (1.1) be positive and the inequalities (1.4) and (3.2) hold. Then the Green function W(t, s) for (3.1) satisfies the inequalities

$$W(t,s) \ge G(t,s) \ge 0; \quad \frac{\partial^k W(t,s)}{\partial t^k} \ge \frac{\partial^k G(t,s)}{\partial t^k} \ge 0$$
 (3.3)

for all $t > s \ge 0$ and k = 1, ..., n - 1.

Proof. Rewrite (3.1) as

$$\sum_{k=0}^{n} a_k(t) x^{(n-k)}(t) = \sum_{k=1}^{n} (a_n(t) - c_n(t)) x^{(n-k)}(t), \quad t \ge 0.$$

Then with the notation w(t) = W(t, 0), we have

$$w(t) = G(t,0) + \int_0^t G(t,s) \sum_{k=1}^n (a_{n-k}(s) - c_{n-k}(s)) w^{(k)}(s) ds.$$
(3.4)

Hence, according to (1.2),

$$w^{(k)}(t) = \frac{\partial^k G(t,0)}{\partial t^k} + \int_0^t \frac{\partial^k G(t,s)}{\partial t^k} \sum_{k=0}^n (a_{n-k}(s) - c_{n-k}(s)) w^{(k)}(s) ds.$$
(3.5)

Rewrite (3.4) and (3.5) as the *n*-vector equation

$$\widehat{w} = \widehat{G} + \widetilde{V}\widehat{w}$$

where \tilde{V} is a Volterra equation with a positive continuous matrix kernel

$$\widehat{G}(t) = \operatorname{column} \left[G(t,0), \frac{\partial G(t,0)}{\partial t}, \dots, \frac{\partial^{n-1} G(t,0)}{\partial t^{n-1}} \right],$$
$$\widehat{w}(t) = \operatorname{column} \left[w(t), w'(t), \dots, w^{(n-1)}(t) \right]$$

. Hence by the Neumann series

$$\widehat{w} = \sum_{k=0}^{\infty} \widetilde{V}^k \widehat{G} \ge \widehat{G}.$$

So for s = 0 the inequalities (3.3) are proved. But the case s > 0 can be similarly proved. As it was above mentioned, the Neumann series of any Volterra operator with a continuous kernel converges in the sup-norm on each finite segment, since the spectral radius of that operator in a space of continuous functions defined on a finite segment is equal to zero. This proves the lemma.

Note that a relatively special but related comparison result is due to MacKenna and Reichel [12].

4. The case of negative roots

Let $Q(\lambda)$ have at least one negative root. With a positive number r, substitute in (1.1) $x(t) = e^{-rt}w(t)$. After simple calculations we get we equation

$$P(D-r,t)w(t) = 0.$$

Take into account that

$$P(z - r, t) = \sum_{k=0}^{n} a_{n-k}(t)(z - r)^{k}$$

= $\sum_{k=0}^{n} a_{n-k}(t) \sum_{j=0}^{k} C_{k}^{j}(-r)^{k-j} z^{j}$
= $\sum_{j=0}^{n} z^{j} \sum_{k=j}^{n} a_{n-k}(t) C_{k}^{j}(-r)^{k-j}$
= $\sum_{j=0}^{n} z^{j} \tilde{a}_{n-j}(t, r)$

where $C_k^j = \frac{k!}{j!(k-j)!}$ and

$$\tilde{a}_{n-j}(t,r) = \sum_{k=j}^{n} a_{n-k}(t) C_k^j (-r)^{k-j}.$$

Thus we have

$$\sum_{k=0}^{n} \tilde{a}_{n-k}(t,r)w^{(k)}(t) = 0, \quad t > 0,.$$
(4.1)

Assume that

$$\tilde{a}_j(t,r) \le \tilde{b}_j(r) \quad (\tilde{b}_j(r) = \text{const}; \ t \ge 0; \ j = 1, \dots, n,$$

$$(4.2)$$

and introduce the polynomial

$$\tilde{Q}(\lambda,r) = \lambda^n + \tilde{b}_1(r)\lambda^{n-1} + \tilde{b}_2(r)\lambda^{n-2} + \dots + \tilde{b}_n(r).$$

Then applying Theorem 1.1 to equation (4.1), we obtain the following result.

Corollary 4.1. Under condition (4.2), for a positive number r, let all the roots of polynomial $\tilde{Q}(\lambda, r)$ be real and non-negative. Then the Green function for (1.1) is positive. Moreover,

$$\frac{\partial^k (e^{rt} G(t,s))}{\partial t^k} \ge 0, \quad t > s \ge 0; \ k = 1, \dots, n-1.$$

In particular, consider the equation

$$x'' + a_1(t)x' + a_2(t)x = 0 (4.3)$$

assuming that

$$0 < m_k \le a_k(t) \le M_k, \quad t \ge 0; \ k = 1, 2, \tag{4.4}$$

where m_k and M_k are constant. Then

$$\tilde{a}_1(t,r) = -2r + a_1(t), \tilde{a}_2(t,r) = r^2 - a_1r + a_2(t).$$

Hence

$$\tilde{a}_1(t,r) \le \tilde{b}_1(r) = -2r + M_1, \tilde{a}_2(t,r) \le \tilde{b}_2(r) = r^2 - m_1r + M_2$$

If $\tilde{b}_1(r) < 0$, $\tilde{b}_2(r) > 0$ and $\tilde{b}_1^2(r) \ge 4\tilde{b}_2(r)$, then $\tilde{Q}(z,r) = z^2 + \tilde{b}_1(r)z + \tilde{b}_2(r)$ has two non-negative roots. Let $m_1^2 > 4M_2$. Take $r \ge M_1$. Then

$$r \ge M_1 > m_1/2 + \sqrt{m_1^2/4 - M_2}$$

EJDE-2008/97

$$(-2r + M_1)^2 \ge 4(r^2 - m_1r + M_2).$$

Hence $M_1^2 - 4rM_1^2 \ge -4m_1r + 4M_2$. So we get

$$M_1 \le r \le (M_1^2 - 4M_2)/4(M_1 - m_1).$$
 (4.5)

Now the previous corollary implies the following result.

Corollary 4.2. Let the conditions (4.4), $m_1^2 > 4M_2$ and

$$1 \le \frac{(M_1^2 - 4M_2)}{4M_1(M_1 - m_1)}$$

hold, then the Green function G(t,s) for (4.1) is positive. Moreover,

$$\frac{\partial(e^{rt}G(t,s))}{\partial t} \ge 0, \quad t > s \ge 0,$$

for any r satisfying (4.5). In particular for $r = M_1$.

References

- Agarwal, R. P.; O'Regan, D; Wong, P. J. Y.; Positive Solutions of Differential, Difference and Integral equations, Kluwer, Dordrecht, 1999.
- [2] Caraballo, T.; On the decay rate of solutions of non-autonomous differential systems, *Electron. J. Diff. Eqns.*, Vol. 2001 (2001), No. 05, 1-17.
- [3] Daleckii, Yu L. and Krein, M. G.; Stability of Solutions of Differential Equations in Banach Space, Amer. Math. Soc., Providence, R. I. (1971).
- [4] De la Sen, M.; Robust stability of a class of linear time-varying systems. IMA J. Math. Control Inf. 19 (2002), No.4, 399-418.
- [5] Elias, U.; Oscillation Theory of Two-term Differential Equations. Dordrecht: Kluwer Academic Publishers, 1997.
- [6] Eloe, P. W. and J. Henderson; Positive solutions for higher order ordinary differential equations. *Electron. J. Differ. Equ.*, 1995 (1995), nO. 03.
- [7] Gil', M.I. ; Differential equations with bounded positive Green's functions and generalized Aizerman's hypothesis, *Nonlinear Differential Equations*, 11 (2004), 137-150
- [8] Gil', M.I.; Explicit Stability Conditions for Continuous Systems, Lectures Notes In Control and Information sciences, Vol. 314, Springer Verlag, 2005.
- [9] Gil', M.I.; Positive solutions of equations with nonlinear causal mappings, *Positivity*, 11, N3, (2007), 523-535.
- [10] Krasnosel'skii, M.A., Burd, Sh., and Yu. Kolesov. Nonlinear Almost Periodic Oscillations, Nauka, Moscow. 1970 (In Russian).
- [11] Levin A. Yu.; Non-oscillations of solutions of the equation $x^{(n)}(t) + p_1(t)x^{(n-1)}(t) + \cdots + p_n(t)x(t) = 0$. Russian Mathematical Surveys, 24(2), 43-96 (1969).
- [12] MacKenna, P. J. and Reichel, W.; Radial solutions of singular nonlinear biharmonic equations and applications to conformal geometry, *Electronic J. Diff. Eq.*, 2003 (2003), No. 37, 1-13.
- [13] Naito, M. and Yano k.; Unbounded nonoscillatory solutions of nonlinear ordinary differential equations of arbitrary order, *Hiroshima Math. J.* 18 (1968), 361-372.
- [14] Naito, M. and Yano k.; Positivity solutions of higher order ordinary differential equations, J. Math. Anal. Appl. 250 (2000), 27-48.
- [15] Swanson, C. A.; Comparison and Oscillation Theory of Linear Differential Equations, Ac Press, New York and London (1968).
- [16] Tunc, C.; Stability and boundedness of solutions to certain fourth-order differential equations, *Electron. J. Diff. Eqns.*, Vol. 2006 (2006), No. 35, 1-10.

Michael I. Gil'

DEPARTMENT OF MATHEMATICS, BEN GURION UNIVERSITY OF THE NEGEV, P.O. BOX 653, BEER-SHEVA 84105, ISRAEL

E-mail address: gilmi@cs.bgu.ac.il